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184  Trigonometry Lesson #5: The Sine Law
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b) Calculate the area of APQR to the nearest hundred square metres.

Complete Assignment Questions #3 - #11

(0> b

Assignment
1. Ineach case, determine the length of the indicated side to the nearest tenth.
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Trigonometry Lesson #5: The Sine Law 185
2. In each case, determine the measure of the indicated angle to the nearest degree.
Y b 9.7 F ) x 1.
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3. Ineach case, find the length of the indicated side to the ne

ares{ tenth.
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4. Ineach case, find the measure of the indicated angle to the

63cm

a)A B
N /54cm
286m
S\(\P" S\.(\’}D c 198 m
SY4 T 63
sof = 545 ?-"-“-\‘ . ety
6.3 6 .\
AN R ENVINP
a0 8 Auh
LA* S\ \LO 03/) ax .,

[A= A
opyright © by Absolute Value

Q= sin (0.e0)

169 mm

17

262 mm

3\1\\\7
Ao~ \
Sl = \pAtsial]

S\aV
Vo

-

Q6o
V- s lo, m’l)

= 3N

WMWMN\OT covered by be‘Qancapy—agreMj

R R L e e T

o vt

o R
B L RN R . e s T T T L A R A S |



e PRI LT e AT o Ui PR Y0, s /I 7 e BT ST M P £ S R—
e By il e T s M e i o e e i - . =

186  Trigonometry Lesson #5: The Sine Law

@In AABC, angle A =49°, angle B =57° and a =8 . Calculate b to the negrest tenth,

kX 5
Sos) SO A N O
b= %S\f\:p?' e b
InALMN, angleLNM=£l4°,LM-123mm N

and MN = 88 mm. L -
Calculate ZLMN, to the nearest degree. w@n
DS\t LL 4o sl Lm 123mm Y
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. P and Q are two bases for a mountain climb. PQ is 600 m and
OR is a vertical stretch of a rock face. The angle of elevation
of Q from P is 31°, and the angle of elevation of R from P is 41°.

a) Mark these measurements on the diagram and state the
measure of angle PRQ. L\GI °

b) Use the sine law in APQOR to calculate the height
of the vertical climb, OR, to the nearest metre.

LR = ¥0-0 -1
= 47
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Trigonometry Lesson #5: The Sine Law 187

@ Three students are trying to determine the area of the triangle in the
diagram. Each student is given a different formula with which to

determine the area. The area of the triangle is 53.3 m?, 12m

Show how each student arrived at this answer. s -

Student #1: Use the formula A = %bh, where b is the length of the base
and h is the vertical height.

Student #2: Use Heron’s formula A =+/s(s - a)(s — b)(s — c¢) , where a,b and ¢ are
the lengths of the three sides and s is the semi-perimeter of the triangle.

Student #3: Use the formula A = %ab sin C, where a and b are the lengths of
two sides and angle C is the contained angle between the sides a and b.
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188  Trigonometry Lesson #5: The Sine Law

In triangle POR, angle P = 20°, angle R = 150° and OR = 6 m. The l;\:agth of PQ is

A. 41Im

B. 88m X b

C. 152Zm '

D. 173m 59>
S S S A0
S50 ~ sindOD SO0

@ In AABC, LA =30°, BC = 10 units and AC = 15 units. If 2B is acute-angled, then 2C is

o \ab a3 6 And LB
A. 194 SIS 5_\-‘-0—0—— then LC
B. 486° 'S~ .
—C. 1014° > . _ oD @)

D. 130.6° SULEE \S’___%_%\____ \ 10— 30-N% Y
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Q
MI—D From a point A, level with the foot of a hill, the angle of D = ] q

elevation of the top of the hill is 16°. From a point B, | £ :

950 metres nearer the foot of the hill, the angle of <les @5 S5 go
elevation of the top is 35°. A 950 m B C X
The height of the hill, DC, to the nearest metre, is . % 4l

{Record your answer in the numerical response box from left to right.) Q; l
V) _ 950
= 3 in35 = _X
Sialo S\ Sin 3

| g3
g LUE V=5

._____________-ﬂ
Answer Key
1. a) 470 b) 318 ¢) 3.2 d) 874 2. a) 62° b) 33°
3. a) Rd4em b) 55m c) 90 mm 4. a) 54° b) & c) 35°
5. 89 6. 25° 7. a) 49° B) 138 m
9. B 10. C 11. | 4 6 |1
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